
SET MINTO
Code: 544079

Ensemble de 4 pièces  
FZS60638+FZS60638T+FTS61687

Acier/ Polyester 

1/21



A

B

1

2

C

D

E

F

∅13×∅6.5×1

M

N

O

P

Q

R

G

H

1

2

2

2

3

3

12

12

38

8

58

1

M6×15

M6×25

M6×10

I

J

1

5

R

L

K

5

1

L

S 1
M6

A

B

K

L

E
F

C

D

G

H

J

P

Q

O
Q

N
M

Q

N
Q M

I
2/21

LISTE DES PIECES



B

A

FTS61687

1.1

A×1 B×2 P×8

(M6×25)

Q×8

(∅13×∅6.5×1)

P Q

Step/étape 1

3/21



FTS61687

1.2

S×1

S

Serrer toutes les vis.

Step/étape 2

4/21



FZS60638

1.1

C×1 D×1 E×1

O×6

(M6×15)

Q×6

(∅13×∅6.5×1)

E

D
C

O

Q

Step/étape 3

5/21



1.2

FZS60638

S×1

S

Serrer toutes les vis.

Step/étape 4

6/21



1.3

FZS60638

O×6

(M6×15)

Q×6

(∅13×∅6.5×1)
F×1

F

O

Q

Step/étape 5

7/21



1.4

FZS60638

S×1

S

Serrer toutes les vis.

Step/étape 6

8/21



1.5

FZS60638

K×1 L×1

K

L

Step/étape 7

9/21



FZS60638T

1.1

O×6

(M6×15)

Q×6

(∅13×∅6.5×1)

E×1 G×1 I×1

E
GI

O

Q

Step/étape 8

10/21



FZS60638T

S×1

1.2

S

Serrer toutes les vis.

Step/étape 9

11/21



FZS60638T

1.3

O×6

(M6×15)

Q×6

(∅13×∅6.5×1)
F×1

F

O

Q

Step/étape 10

12/21



FZS60638T

1.4

S×1

Serrer toutes les 
vis.

S

Step/étape 11

2/21

13/21



FZS60638T

1.5

O×2

(M6×15)

Q×2

(∅13×∅6.5×1)
J×1

O

Q

J

Step/étape 12

14/21



FZS60638T

1.6

S×1

S

Serrer toutes les vis.

Step/étape 13

15/21



FZS60638T

1.7

H×2 M×12 N×12

(M6*10)

Q×12

(∅13×∅6.5×1)

H

M Q

N

M

Q
N

Step/étape 14

16/21



S×1 T×1

FZS60638T

1.8

Serrer toutes les vis.T

S

T S

Step/étape 15

/21

17/21



FZS60638T

1.9

K×3 L×3

K

L

Step/étape 16

/21

18/21



｀／暑置厂t���补��『`
Vous avez choisi d'acheter ce produit chez CREADOR. Nous esperons que vous en 
serez entierement satisfait et vous remercions de votre confiance. 
Si toutefois vous aviez remarque un probleme en cours de montage, appelez 
vite votre magasin qui vous apportera la solution adequate. 
Vous pouvez egalement nous ecrire a l'adresse suivante : 

｀门『汇髻／
You have decided to buy a product from CREADOR. We thank you for your trust 
and hope you are fully satisfied with your purchase. 
If for any reason you encounter a problem when assembling this item, quickly 
call your shop which will provide you with a suitable solution. 
You can also contact us at the following address: 

｀屙巨
Sie haben beschlossen, dieses Produkt bei CREADOR zu kaufen. Wir hoffen, da� es 
Sie vollauf zufriedenstellt und danken Ihnen fur 1hr Vertrauen. 
Sollten Sie jedoch wahrend der Montage auf ein Problem gesto�en sein, rufen 
Sie bitte schnell unser Geschaft an, das Ihnen die passende Losung bringt. 
Sie konnen uns auch unter folgender Adresse schreiben: 

�@���� 厂』礼』��『口：
Usted ha escogido comprar este producto en CREADOR. Esperamos que este 
completamente satisfecho de eso y le agradecemos su confianza. 
No obstante, si usted hubiese observado algun problema durante el montaje, 
llame rapido a su tienda, esta le dara la soluci6n adecuada. 
Tambien puede escribirnos a la siguiente direcci6n: 

｀琶���三勹仆倡匠门『勹｀
Voce optou por comprar este produto CREADOR. Esperamos que voce esteja 
completamente satisfeito com isso e agradecemos a sua confian9a. 
No entanto, se voce tivesse visto algum problema durante a instalaQao, chame 
rapido a sua loja, ele vai te dar a soluQao certa. 
Voce tambem pode escrever para o seguinte endere90: 

19/21



SAV Germany:info@mwhgmbh.de

20/21



SAV Germany:info@mwhgmbh.de

21/21


	FSA60441B+FSA60441BL+FTA60577 -说明书 第一次更新
	FZA40359J-40360J-FTA40311ZAI-547315 Mindeloset  AI
	795909 AI revised 2023-8-22 - 副本
	795909 AI revised 2023-8-22 - 副本 (2)

	FSA60441B+FSA60441BL+FTA60577 -说明书 第一次更新 - 副本



